JAYPEE UNIVERSITY OF INF ORMATION TECHNOLOGY, WAKNAGHAT
TEST ~1 EXAMINATION- 2025
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COURSE CODE (CREDITS):18B1WCE639 (3) MAX. MARKS: 15
COURSE NAME: Open Channel Flow and Hydraulic machine
COURSE INSTRUCTORS: Ashish Kumar . MAX. TIME: lt';Hour
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(b) The candidate is allowed to make Suitable numeric assumptions wherever :;bqu;ed
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Note: (a) All questions are compulsory.

Jor solving problems . AL

| Q. No Question a i €O ) Marks
Q1 (2) | How flow in open Channel conduit is different with flow in cIosef%qgn‘dﬁits? Co1 |1

Under which conditions, flow in a closed conduits can be treated;as flow in
[RE] t

. . . P 1“-’ g f
open channels? Explain with suitable example. (", :,whii
i T a

'QL(b) | Find out the rate of flow of water through a re‘gté'rigl_ilar”éhénnel having | COl [2.5

width 7 m and depth of flow equal to 4 m. The ';éjja;;]}ﬁ"él,_ is having bed slope

8 lin 1500. Take Chezy’s coefficient C= 55, " !
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Q2 A trapezoidal channel with side slogglf)’ﬁ:};ngot’lif has be designed to carry a | CO1 | 5

maximum discharge 10 m%s _at;-:a:_;‘:\'z.'é’fbc‘i!ty of 2 mss. Compute the
+ 1] "' : 'ph’li . *
dimensions of the channe!!;fb*st;g_‘ffhost economical. Also compute the

¢

channe! slope for this sectioﬁ‘fé;pgi’di.scharge. Take Chezy’s coefficient C=
60. o

Q3 (a) | Explain the phpﬂahlglrit)n of hydraulic Jump with neat sketch. What are [ CO2 |2
different a;?pl;i;qéffgﬁ pf hydraulic jump?

Q3 (b) | The v'\;?xté’r fb;q‘i'écﬂarged from a dam through a spillway. At the bottom of [ CO2 |3

spiggx;;';é?*y?!oci}y is 6 m/s and depth of flow js 0.4 m. The width of flowat|
,i't*hg bqttbm of spillway is 8 m. Determine whether a hydraulic Jump will
eii_iéf;iénd if so find its height and length of hydraulic Jjump. Also find loss
of energy.

Q4 Find the specific energy of flowing water through a rectangular channel of [CO2 |15
width 5 m and discharge equal to 10 Cumec. Take depth of water as 3 m,
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